(@
Oyl ol (65 g0
Fosa s sl Dl

) ;{/LV)) Cowld Cordly LS g 95 9 Cumd gy (125 8055 (yblga (gl ol 3),lw

~

cLiaal p3ges &l s (3l Oluisl b 45 5 A) JolS & ge0 @ 1) 45,555 ¢l (0345 ES 38) worerrerrrersennnensesss 5

Y4

Lél j> sluodl 595 (yrosmiy OVlguw 4 85
I VR AR ATV

(4883) (yg03] oo | g8 sl | OYIguw Sloss
o Voo 1Fies 0. o)

)\

J

_ N\
2 é)'yl.? |o|.a 9 ‘ob
Ol 2359 1 5 louds
:dibio tslo 25
a4l 103y pU
L WE V) Ipl.i

1 )g=>
J

- o
Canl g 900 Ol (aiile 1 03l
S @l |) duder Jgtaume Edg £l ) 595 Slelbl ) (&l 929 g0 > )
Ui C83 & gl )3 5 383 )3 (pails G985 pb 3929 O30 )3 - 339d robe OYlga 4 885 LS 12 dod 3929 jl 9 Swles gy 2 1) 43,585 Y515 SVl slass 0903 T JET jI oy 4holB), ¥
S @b |)
S glbie | duddr giane g & pual 23 OT 0392 Cann b )90 > sl 2 g5 OT (59 2 Lod Sliasuin 45 48 )5 )18 Lot JLisl s debijenly € 0 o W
8,5 anlgsu @has (slo pes P l&oﬂl‘q’nmea.nfbul,w Az 85 )3 godie 3190 Cawl o232 590 319 wlgwly )> 2L Ol 4l ¢
gy 943 by 5 OVlgan 43 285 Olomivo S (55 1) 395 (Solgils pb 5 oL .0
S ol WalS [y b5 590 615 Tab 330 Cuslle bigs po Jomo 13 35 (oSuen ol b 1) ooy i ool 09l 9 3015 455 s 9 2S5 b 1) 0T g 35 g0 graea 0l 1) Lok doligemsly 45 .5
.),&@QM%«W‘A&QJ&,‘BQA.,,&SJb)LﬁIw|QTj|)§|&&b,&mscﬂ|y&bb|ﬂ.¢m|&w%lb#J’M)oboéb')ﬁﬁit;.:i’)xsﬂfﬂyy&bbboh.v
39 525 ey ol 4 doigily ol pad 34l SVlses 43555 A
)3 (e 2 p0d Sy Caw )b gy 5 e 505 ¥ Ulguw b 4 Ca ) el A
g go Ol ea3jbs 23 b OliseT G2l oy Sl Ol )83 )3 OB 38 &S o) »
"

4

o ®



dled dslxe Iy 28,8 ,0iS 3lhao 0l do )0 ¢ Jgu> Sl e ax>gi b L)

S Comex | G 2l e | Gpd ol Gle | e 9 S e | alge (e

)_{L;Ya ooooo )_é;'\oo ).{L;\a” )_"stooo J_é;'aoooo

<10(F INAIAE V/A(Y Yo ()
aalhie pl Cosox > o515 5 2388 p (65,y0laS Jgame plas cuis acbucs byl il 4 azgi b LY

el 009 )L)f).ul;

5> (f &8 A S (Y w5y ()

il oo sl bl Jolejl 3lis a5 Sz 5o oybal &ymlie o asam Sk aysF als Y

) & S5 0350 2l (¥ SN & Jlails labes &2 lgs ()

AS 5 A a5 0 0 S ylee (F 295 4 e p0 50 O ylpe (Y

§ el €y o) yawgd o aman Sl wl>»ly ol Jdo a5 plas'f

0 0,5 gl )d Jhugid dib o5 59 abes ()
O3 055 shmogd il 3l L i (¥

003 055 hagiel abelo 22555 Jgh Ao Sl (F
Lo el (59 2 0 05 Jlow il (092 gl (F

VP 51T amian ) oS 4> i




0,10 (g yiin i ¢ ol (atino ad)le (5,5 S 0 O jle plaS D

omlb 5l po5e j5b 4y aileog; 0,0 H5ee ()
o8l Wl o ol s dl> LSus (Y
oy Olib Jlazge lugs (7

ool g plaie Jlgio slo ool (F

COS sl 0l pgal b a6 8 ISKS al 80 | Wlge Jele yids F

Sl sl oI ()

Js (¥

Zlsal(F

D A AAE e 0l 0y, s s )0 090 danlY

2l e (F aisls &5 o (¥ anlpl o (Y

Adg> s ()

bords o 0 (F SilSe  Sojlen (¥ &l aman SogSS (Y Pibe (O

C0iS o JalS s 0 ], ) dlaz adlol & lie plas A
€aS Col o] Sl sla (s lgenl Slasein 51 »

e o igleyd 51 236, a3 ()
o;@ﬁb&u&bkj)bo]d&&u]owb(v
el 00 odlg S>95g 3, sl S 03, 3 u] C}.E.w(\”

VP 1Y aman ) oS ax 8



el 6))5Lm5 °5“""" fa‘..\s aQ ‘by).a )lS 65)*: JBL\} K

Sl syt (¥ 00 S s (55,5LiS ()

08 yid Slire (65,9liS (Y SSlE ) 65,9lis (Y

90,00 51,3 31 g0 plaS” Jogo Yaons ) cdad Jou'" Jos 0g55.) )

b el g @515 ey ekl (¥ 355 gl ailie oy ogad ()
Ll i ok (F LG alols . o s (F

Sl ity eolazdl gl i 4y 198 pla8 L5l Lallil odg (Soly ooy Y

s Hl(F 5 oS (Y S 5(Y dewg, ()

¢ el ool uu).d " ‘5)‘&‘;|).05L§LM9)96)% ‘_gl.w)‘)l.a " ;.Jlé)o).e,..‘b‘o)s.b r:bf)o\\"

Gé.wlé sl o (F GcLo.o| sl d..lj.'a}’ ¥ G"S oMasl(Y (e Lgl.“é\).i.? (\

19 51 F aman ) oS ax 280



sl Sidns F 0 b @Sl el G3dssT (N el 599551 ()

Fas oo Jloo w0 y ol ax n5 nolaiNo

oolh g (8 i gl g5l (Y 39t O

17 10 axan VoS 4z 8



Co)ls cillae 5 slo poed 51 G plas b SIGL 608 6580 el N P

bl
~
A
J
d

bobLLL LTS

ol
o

&t 35 o (F & s oIS (Y s (Y St F Sy (O

fowl Sl ml8l 1o 0,5 Cungy a1 ,55 50 3l 438 plas VA

Oy (25 0 il g yliwsid alydl ()

Oy OS5 oS Gl g piwsid Ghals (Y
ey DS 0xe3d Rl g simgid AalS (Y

Oy S oS GialS g pignd iol53I(F

V7 517 amian ) oS ax i



faadl oo sl Jlo 5l dge az o Led i3Sl Lo (St (59, 4
odlazel ley yo()
Ll Dl ggds Lo (Y
ol O jlass olo g0 b SH(Y
Sl OME! ) L3 ole 90 b Sy(F

2,00 0l el Job 55 (SiS prad 5Se 2 b)3 e (O
3,10 Gl ey Jsb 50 (8 e Se 2 bjo e (F
Sl by o 30 085 s 45 0,0 Conw 3l g s Jobo 0 00 Sl(Y

Sl by 50 040 Cios 4 055 Cow 3l g 39, Jabo yo 0,0 oL(F

Sl LSl 3 5 e S5 lelis | ()
Olpl ol &M 5 (55 5 5 RIKY
S s 3l 5 55 sl (7
Oyl (A5l O 5 aeg 4zl yo (F

fogh 0 wol8 I 0095 plaS aliwg 4 ()l Bblie el ailincs) sla 2L o) VY

(MP) bl ogil3l clon 095 ()
(MT) styLﬁ‘ ! o)l:> 6‘5.03 oogs (Y
(CA)ulfJLo..» &ler 0ogy (Y

(CT)&‘ o)L> Ls‘ o)lé 6‘9—‘2’ 0093 (f

Zge (F ol g (Y o (¥ & 93861 ,3 ()

VP 1Y axan ) oS ax 8



fo,lo Cillas Al (g9, p ol asuine e Lo SO L a8 slas YT

OS5 ()
00 i (Y
Sl alsa(Y

ass w (Y

T 0,10 a9 4 (gl Siwly e cdgs” plas” solaidl ol> ol Jl> 0.Y0

9 w(Y g sbe (Y 9SLgo (¥ CagS()

f(f Y (¥ Y(Y

V(O

$an] oo sled 4 el la el 5l s sl 5l SO plas VY

£y 9 ol (F e g Llsln (F

19 1A amio ) oS ax 28



Foowl ool diligl  gw 0dy ¢ 0505 9, (A G L )oss Laseive 56 4 a5l « &l plaS YA
g (oo ool o)) eyl sl am Ese 5 e (nl Sy IS IO
s SVl 5 jgue 4y H0B8 5 AiiS jgue Dlawl> 51 Wlgy o dadd (Y

D55 o0 Dygo (Gaan L) sl opls o jlas slaal o ol)d o8 > (F

n u 1[' ' | h” 1\ )
)

™

Dy a ol e kel 4y 05 e £98s LY 5 )lse aen VA
Oy 0dimd LSS SgESs Slmio atugag pl,l &S > ()
| San o slo 4 s Sl Lid ale (¥

25 09 3l sl 03 glgal s Sf3T (Y

JS e 59, 2 SUSL (Y

oS o 5 cwpal) oy ales aslol &jle plas Y-
........................ ol ylad a5 sien (5 lgl BT ald o LoY"
el o o V3 SO

ool yio il Ve U e e ) 1Y

el o gl Vel o (F

RUIUW O VO I P

€10 o plia Uis) opme oz, Vo b Jale plas ¥
n Swglie Sal3310

Lo axals acsly s li> (¥

aold ol gz yo (g Y ogl(Y

sl ey slag s Sl elaslg cods o (Y

V2 51 axian ) oS 4> s



ol Sl S35 a3 G s 5 o 2l 005 0 ool (ST
SLad o8 abels (9,0 Zugh ) jlade ()

b oS sl wlale 08 (¥

el adg (S sle (S (¥

sl adg> (Al gy cano(f

¢ ol 20 glS i o3l ol Jsb sl el & 1 1/ YO vt e 4k 5 sl &S5 b Y

Yoo (v Yo (¥ Yo (Y Yoo ()

bt alold) § col o six A abais glis )| conl Ve oo e ulde o 5 8T g g5 asss YF

(el oY 5l
IRARE(1 F-. (¥ 7. (Y Vg ()

@ b Sgessl S 10 (1S S > Jbax 055 Com  az )0 TV Sigausl o le,S 0l 5l 51X
o5k gleys
Y (f YYYy (¥ iV (Y YYv

17 51 Ye axman ) oS ax sd



D (¢

B (v A O

fans oo plas |y A dlaii (oLdlas ) ads Slaise a5 slas Yy

YA+« 5 OY/YO (Y YAD o OF/V ()

YVIOY 5 OY/D- (f YA+ o QYO (Y
- -, - -~ \\ :
- ~>A §{&\;‘ 3 'Q.. — X'
ol e ® it
e Y
{5 ‘~ — ~ .. \.
3 %35\ <z
‘ ' LU P e
-4".‘.' X 41. 3 ! Q—. Lok ot
: & :. - ¥ " }%‘*‘ >, \.
i o . "’IZQ " A
AN AL e N
{ )\” \ < ' ~N 201
Jﬁtﬁ w8\ o
4 {*
: g +28 00
45 TP AR 5400

V2 51N aman ) oS a8



Vb (F V0 (¥ VO/0 (Y Yo/ (M

T o)ls g ymion Bldail aldi 69y 00l puw i (BT 995 Slatel b & e plas’¥A

D (f C B (v A (O
B s Ha
1 l ) 4 e Ty ay W
Jls > <\\ >
» A= e "“-—-»"\.J >
B
. 0
V| . B
~£$/ D J O@@
PREN ~ y
0\ )} ﬁ
t (\7 N\ / //.K A‘

\[SIA ) QFET R ERUSPESLER



FaiS oo olo ]y HaiS alaS chmex Cledbl 45 o p 0.5

oI (f s (F lobLs(Y e ()

100+] Male 0.0% 0.0% Female
05.99 0.0% 0.0%
90-94 0.0% 0.0%

41.A village has an area of 5 km? and a population density of 600 people
per km2.Calculate the number of people living in the village?

1) 6000 2) 3000 3) 2000 4)5000

42 What is erosion?

1) Is a mountain building process.

2) Is produced from soils.

3) A similar process, weathering, breaks down or dissolves rock.

4) Water, wind, temperature change, all help break down parent material.
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43.what is Y axis in this picture? Spaﬂal Margln of PrOﬂtab"“y

1) Demand

: o o
2) Price MW <
3) Infrastructure T Profit  [Maximum i
4) Sale I

- spatial Margin

e Distance — — DIStance ———

44.Considering the remarkable diversity and heterogeneity of the central
part of the below image, what kind of urban morphology do you see?

1) American 2) Middle East 3) European 4) African

45.How fast to we need to stop burning fossil fuels to limit global
temperature rise to 2 degrees C? (3.6 degrees F)

1) We need to stop burning fossil fuels by 2100.

2) We need to stop burning fossil fuels by 2040.

3) Fossil fuels don't mater, the Sun will cool and so will the Earth.
4) It's already too late to stay below the 2-degree threshold.
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46.What is the most complete concept that you can see from the picture of
Greek settlements below?

1) Attica 2) Polis 3) Piraeus 4) Athen

47 What causes the strengthening of the winter pattern of Hadley cells
during El Nino?

1)Intensification of public transport.

2)Intensification of horizontal wind.

3)Intensification of longitudinal temperature gradient.
4) Intensification of latitudinal temperature gradient.

48.What does cause difference between the two countries?
1)The length of the river 2) The river bed change
3)The Talug line 4) The fishing

V9 10 axan VoS ax 8



49.Which factor has a more important role in causing floods?

1)Rain intensity and duration

2)The climatic conditions of the basin
3)The extent and size of the watershed
4)The volume of runoff on the basin

50.The topographic map below shows a volcanic cone. How many feet high
is the crater floor of this volcanic cone?

1) 800 2) 900 3) 1000 4) 1020

Contour interval 20 fest ) -
- - Scale 1:17000
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